
 
 
 
 
 

BRUTOS STRONG 
 
 

1               17+    qualsiasi mano 
 

1            15-16   5+m o BIL o 4441  
 

1 
           15-16   5+M  
           11-14   4M - 5+ m / altro Nobile 

 

1NT            11-14   BIL, 5M-332, 5422 e 4441 
 

2x 
           11-14   5°  - no 4M, mani sbilanciate 
              9-14  6° 

 

2NT            21-22   Puppet Stayman 
 

3x                         7+   Barrage  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



BRUTOS STRONG 
 

 

 

         1                                           17+    qualsiasi mano - Risposte a controlli 
 

1                                                                                  15-16    5+m o BIL o 4441 

1 = 0/8 o FM                                

1 = 9-12 5+P                                
1NT = 9-12, BIL                  

2 = 9-12 5+m                      

2 = 9-12 FIT 

2 = 9-12 6P 

 

   1 = 5+C - 4P;   1NT = BIL o 4441;   2 = 5+m;   2 = 5+C 

   1NT - BIL o 4441;   2 = 5+m, NF; 2 = 5+C, FM;   2 = FIT, NF; altro = Nat., FM 

   2 = 5+m 

   2 = 5+Q;   2 = 4M;   2NT = 5+F - no 4M;   3 = BIL 

   2 = 5+m - FIT;   2 = 4P*;   2NT = 5+F;   3 = 5+Q;   3 = BIL - no FIT; 

   3  = FIT - BIL;   3NT = 4441 

   Come  su 2 
 

1                                               15-16    5+C   oppure   11-14   4C - 5+ m / altro M 

1 = 4+P 
1NT = F1 

2 = FIT, IM+   
 

2 = FIT, COS → Trial bid  

2 = FIT, SO 

1NT = 5C, possibile FIT;   2 = 5+m;   2 = 6C;   2 = 5P - FIT 

   2 = 5+m;   2 = 5+C;   2 = 5+P 

   2 = 5+Q, min;   2 = 5+F/P, min;  2 = 5+P, max;    2NT = 5C;   3 = 5+m, max   

   3 = 6C 

2 = SO;     2 = chiede singolo;   2NT = chiede onori    3 = chiede onori  
 

 

 

1                                    15-16    5+P   oppure   11-14   4P  - 5+ m / altro M 
1NT = F1 

2 = FIT, IM+   

2 = 5+C, IM+ 

2 = FIT, COS → Trial bid 

2 = FIT, SO 

 2 = 5+m;   2 = 5+C;   2 = 5+P - no 4C;   2NT = 5P - 4C;   3 = 5P - 5x 

   2 = 5+Q, min;  2 = 5+C;   2 = 5+F, min;   2NT = 5P;   3 = 5+m, max;   3 = 6P    

   2 = 5m, min - no FIT;   2 = 5+P;   3 = 5+m, max    

   2 = SO; 2NT = chiede singolo;   3m = chiede onori  

 
 

1NT                                                                      11-14    BIL, 5M-332, 5422 e 4441 

  2 = relay   
   

  2 = 5+C, Trsf x  

  2 = 5+P, Trsf x  

  2   = 5P - 4+C, FM 
  2NT = 5-5m, F1 

  3x = 6x, SO 

   2 = nega 5M;   2 = 5M, min;   2NT = no 4M, min;   3 = 5/4m-22, max; 

   3 = 5M, max. 

      2 = obbligato   →   2 = 4P, IM+;   2NT = IM;   3 = 4+m, IM;   3 = 6C, IM 

    2 = obbligato   →   2NT = IM;   3 = 4+m, IM;   3 = 4+C, IM;   3 = 6P, IM 
 

 

2/2     
                                               11-14    5+m, mani sbilanciate  - no 4M 
                                                         9-14    6+m 

1° gradino = relay, IM+ 

 1° grad. = 3 carte nel 1° nobile licitabile  
 2° grad. = 3 carte nel 2° nobile licitabile  
 3° grad. = 6m, max (12-14) 
 4° grad. = 6m, min 

 3 = 5431 con 3M, max 

2 = 5+M, Sign Off  (su 2 solo 2)  

3/ = FIT, Sign Off 
altro = Naturale, IM  

 

2     
                                     11-14    5C, mani sbilanciate  - no 4° altro M 
                                              9-14   6+C  

    2 = relay 
   2NT = 5P, IM  

 3 = FIT, Sign Off 
   altro = nat, IM 

2NT = max;    altro = naturale, min 

3 = 4+m, max;    3 = 6C, min;   3 = FIT, min;    3NT = 6C, max 
 
 

 

2 
                                            11-14    5C, mani sbilanciate  - no 4° altro M 
                                              9-14   6+C 

   2NT = relay 

    3 = 5C - 4+m, IM 

    3 = 6°, IM 

    3 = FIT, Sign Off 

3 = 4+m, min;    3 = 5P, max;    3 = 6P, min;   3NT = 6P, max 

3 = FIT, NF;    3 = 6P, min;   3NT = 5P, max  
 
 

                                                                             * 1° gradino = relay 
 


